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OUTKELHFV: 234678 INBERL&V: 111213161718

(AR PRI )
I SR ST SO TV T N T

- H L FH ANE
HEARE DS BR B— 44 50 94 20.4 73.6 ANE

3 fir FIE wE 43 41 84 9.6 744 ANE

A R R = 44 41 85 9.6 754

5 fr HA A 47 44 91 15.6 754 ANE

6 fir SHH 2 45 43 88 12.0 76.0

767 I T 42 39 81 4.8 76.2 BG ANE

8 iz EAII 58 50 43 93 16.8 76.2

9 fir ERL RIS 48 45 93 16.8 76.2

10 {7 YT 40 46 86 9.6 76.4 ANE

11 {7 /) b SR 47 45 92 15.6 76.4

12 i w B 50 46 96 19.2 76.8

13 fiz PN/ 48 51 99 21.6 774

14 iz Gy N 53 50 103 252 77.8

15 iz = H FER 45 51 96 18.0 78.0 TRE

16 7 (CEWIWN 46 50 96 18.0 78.0

17 L SRS 51 44 95 16.8 78.2

18 i =5 Al 52 47 99 20.4 78.6

19 fiz FH & 43 49 92 132 78.8

20 iz H & R — 49 48 97 18.0 79.0 TRE

21 i R % 59 61 120 40.8 79.2

22 r ARSE R 49 51 100 20.4 79.6

23 fif SR Y 46 41 87 72 79.8

24 fif SEILT FERE 50 49 99 19.2 79.8

25 fir LI K1k 56 54 110 30.0 80.0 TRE

26 fif [T 28 46 43 89 8.4 80.6

27 i 7o e Tk 56 44 100 19.2 80.8

28 fir W1 el 44 42 86 4.8 81.2

29 fir L Y 51 53 104 228 81.2
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